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Quant Mega Quiz for SSC Tier - 1 (Solutions)

S1. Ans.(a)

Sol.

Lettwo partsarex & v

B v X b

XX—=—
100 100

X:y=3:4

7r— 1750

1lr — 250

15*Part = 3 x 250

= 750 Rs.

Interest on 1t part =750 x uen_u
_ 6000

100
= 60 Rs.

$2. Ans.(d)

Sol.

xX5X3 yxXx8xX3

+ = 300

100 100

5x + 8y =10000

Xx+y=1550x%5

5% + Sy = 7750

5x + 8y = 10000

3y =2250

y =750

x+ 750 = 1550

x =800

x:y=800:750

= 16:15

$3. Ans.(a)
Sol.

S.Ifor 3 years =48
S.Ifor 1 year = 24
S.Ifor 5 years =120
Principal =520 - 120
=400 Rs.
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S$4. Ans.(c)
Sol.
500X 12X 4 xX10XxX4

102 + 100
240 + —x = 480
10

4
—x = 240
10

x = 600 Rs.

S5. Ans.(c)

Sol.

XX 8 xx3l
100 400
X

—— = 61.50
400

x=6150x 4
= 24600

= 61.50

S6. Ans.(d)

Sol.

S1 for%year= 117

S.Ifor 2 years = 156

P=756-156 =600
600 %2 Xr

156 = ——

100
Rate = 1304

$7. Ans.(c)
Sol.

5x 10
?DDD=P(1+ )

3 % 100
35

7000 = P(—)
30

P = 6000 Rs.

$8. Ans.(d)
Sol.
PX15X5 Px8x4

=129
1200 1200
75P — 32P _

$9. Ans.(d)

Sol.
Px12x 3
G400 =——
100

P =15000 Bs.

480
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$10. Ans.(d)

Sol.
Px9x2 Px10x?2

+ =760
100 100
18P 20P

S$11. Ans.(c)
Sol.
A +b+ S+ =4
Puta=hb=1
Thus, a® + b* = 2

S$12. Ans.(d)
Sol.
X+ i =43

SA | 1 1
(x+—) =X +—3+3.x.—(x+—)
X X x A

1
3WV3=x*+5+3x\3
X

1
X +—=0
X
$13. Ans.(c)
Sol.

x¥+3x243x=7

¥ +3.x01+31%x+13-13=7
(x+1)P—-1=7

(x+1)*=s8

Xx+1=+2

x=1

$14. Ans.(b)
Sol.

2x+-=1
X
1
x+—=

x
1

x* + — = (Value)® — 3(Value)
x

1 1

=-—3x=
8 2
—11

8

Bd| =
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$15. Ans.(c)
Sol.

2+ —=6
Multiply hy% both sides,

3x + ! 9
x _ =
2x

$16. Ans.(a)
Sol.

)
x=(VZ-1)"
y

=

x2=‘h§_1=(\-§+1)

1

—=(2-1)

- =(V2+1)- (V241)
=2

LT

$17. Ans.(d)

Sol.

x*+y?—2x+6y+10=0

(x*—2x+ 1)+ (" +233+9)=0
(x—1P+(+3)*=0

x=1, y=-3

x*4+y*=149

=10

$18. Ans.(a)
Sol.
1 1 1
X3 + y3 = z3
Cubing both sides,
1 1 1
x+y+3(x§+jr§)(x_}']§=z
1 1
x+y+3(z)T(xy)T =z

1
(z+y—z)=—3(xyz)3
Again cubing both sides,
(x+v—z)=—-27xyz
(x+y—2z)PF+27xyz=0
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$19. Ans.(d)

Sol.
a® =2,then(a+1)
a=+2

(a+1)=(V2+1)

Now, check from option, (d)

a—1 _ (V2-1)  (V2-1) (3+2v2)
3-20 3-2(v2) (3-2v2)(3+2v2)

=3V24+4-3-22

=(v2+1)

$20. Ans.(a)

Sol.

Ifx+ i =3, x*=-1& power difference of 6 = 0

KEUE:+KIE]U+K‘JU+HH4 +x1H+x12+xﬁ+1

Vv Y e Y
0 o -~ 0

=0

$21. Ans.(c)
Sol.

Let C.P of 1 camera — 100
C.P of 20 cameras = 2000
S.P of 20 cameras

120 110
= 1200 X —+ 800 X —
100 100
= 1440 + 880
= 2320

Profit=2320- 2000 = 320
S.P of 20 cameras at profit 15%

115
= 2000 ®x —

100
= 2300
Profit = 2300 - 2000
=300
Reduction in Profit =320 - 300 =20
20r— 36
1r—+ 1.8
100r — 1.8 x 100
=180

C.P of 1 camera = 180
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$22. Ans.(c)

Sol.

Original M.P = 400 Rs.

M.P is 33.33%% greater than C.P
15 Increase

33.3300 = —
& 3—=C.P

MP=(3+ 1)jr=400Rs.
4dr = 400
1lr= 100
3r= 300
C.P =300 Rs.
LetSPhex
Profit =x - 300
125

Increased M.P = 400 x Too— 500 Rs.

1 5 Increase
16.660 = —
& 6—= S P
Br = X

X
(5 + 1)?‘" — g w7
Increased 5.P = EX

7
Profit = gx — 300

ATQ,

7

Ex — 300 = 2(x — 300)
7

Ex — 2x = —600+ 300
x =360

7
Increased 5.P = E ® 360
=420 Rs.

$23. Ans.(c)

Sol.

C.Pof A=Rs. 160
LetS.PofA=x
S.Pof B=Rs. 240
LetCPofB=y

If S.P of A = C.P of B, Then profit is 209 on selling A

120
2160 X — =1y

100
v =192
Profit of B = 240 - 192
= 48

_ 48
Profit 05 = o * 100
= 2504
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$24. Ans.(c)

Sol.
Let 8.P of cold drinks of both companies be x
M.P of Pepsi = x xﬂxﬂﬂ
0 ' 75
M.P of Coke = x X —= x -2
85 80
Ratio =
100 100 100 100
x X x Px X x
o0 75 85 80
B85 X B0:90 x 75
136:135
$25. Ans.(b)
Sol.
LetC.P=100

Tag price = 80
S.P after discount
_ 93.75

100
=75 Rs.

Loss=100-75=25 Rs.

25 Rs. are less at C.P of Bs. 100

1 Rs.lessat C.P of = %
37.5 Rs. less at C.P of = % % 37.5= Rs. 150

S.P=150-375=Rs. 1125

$26. Ans.(c)

Sol.

C.P S.P
100 95
100 103.33

S

Profit 3.33%
(103.33 - 95)r — 65

8.33r—+ 65
65
lr = ——= 7.80
8.33

100r — 780
CP = Rs. 780
S.p =936

156
Profit 0y = — = 100
780
= 2004
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$27. Ans.(a)

Sol.
Let C.P of watch ==x
Profit % = x%
(100 + x)
— =98

100
x* + 100x = 9600

%%+ 100x-9600=0
%+ 160x - 60x - 9600 =0
%(x+160) -60(x+ 160)=0
x =60
New S.P = 60 X =2

100
=132

$28. Ans.(b)
Sol.

Let C.P of 1000 gm — Rs. 1000
C.P of 1100 gm — Rs. 1000
C.P of 1000 gm for shopkeeper—

S.P of 900 gm — Rs. 1000

10000
11

S.P of 1000 gm — 2
10000 10000
Profit = —
9 11
20000
99

20000

Profit % = Topqs X 100

11

= —222%
B "9

$29. Ans.(b)
Sol.

Profit 96 = 14-%_%

_ 15 Profit
T 758.P
CP=7-1=86
Tr — 280

1r — 40

or = 240
C.P= 240
S.P= 280

Actual Profit = -2 x 100
240

50
= 3 = 16.66%

8 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

$30. Ans.(a)

Sol.
_ MD
PO = M% - D% - Too
12M

2= -i2 g, SSC CGL
44 ="M

20 x 50

ENGLISH
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